Penthouse in Qormi



Qormi, Central



€275,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **145**

Reference No: 240151029-981

P☐ Bedrooms: 3

Penthouse - For Sale - Qormi

QORMI - Penthouse Excluding airspace being proposed in shell form, located in the heart of this sought after village. On entrance one finds a welcoming hall, one large main bedroom with an ensuite, two spare bedrooms and at the back large open plan with spacious terrace. Freehold Must be seen, perfect for a starting family or for a rental investment, call us to find out more.

Features

Ceramic Floor

Entrance Hall

Terrace

Rooms

✓ Bathroom : 1.5 x 3 m (4.5 m2)

✓ Double Bedroom : 3.63 x 2.66 m (9.66 m2)

✓ Double Bedroom : 3.4 x 4.2 m (14.28 m2)

✓ Bathroom Ensuite : 1.82 x 1.5 m (2.73 m2)

Kitchen/Living/Dining: 7.2 x 5.7 m (41.04 m2)

Open Space : 3.07 x 4 m (12.28 m2)

Double Bedroom: 4.21 x 3.36 m (14.15 m2)

Open Space : 5.7 x 3.1 m (17.67 m2)

Gallery







Kurt Psaila Montefort RE/MAX Edge - Attard

M: 99009198

E: kpm@remax.com.mt

T: 21480164

RE/MAX Edge - Attard 4Triq Antonio Schembri, Attard, Malta